Objective Type Quesfions

" OBJECTIVE TYPE QUESTIONS

{Unit -1 ( Functions and Limits)
" TYPE-1: [ Multiple Choice Qu'estiohs M.C.Q9) 1. |

Each Lﬁjuestion has four possible answers. Tick (V) the correct one.

1. The function Ix)= x is called :

(@) A linear function () Anidentity function
QON: quadratic'func!;i.on | (d A cubié fuﬂction
2 If'y'is'expressed in terms of a variablex'as‘y='f(x),.thenyis called: -
,.(a) An e‘xpliéit functioﬁ - (o) An implicit function
-~ (¢ Alinear function - - .(d) An identity function
3. Cdsshzx‘—,sinh2x= (A R | |
o f{a) -1 .' ® 0 @1 (d nﬁﬁe of thesé
~ 4. cosechx ls equal 'to' o o ) |
o (a) e +2 et -Fb) er"‘+1 e‘xl © & -2 e"’“ @ e“z— e~
() undefined () W2 () @@ @ o0
6. ™1y = S
 (a) % S L, ‘e (o) e (d‘)'undeﬁned

7. The _notétion: y=f(x) 1;zva-s invented by

(8 Leibnitz ) Eulér | (c) Newton ~ (d) Lagrange

| 8. Iff(x);xZ-Zx»r'l-,thehf(O):? | _
(8) -1 b0 @1 . @ 2
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_Objective Type Queshons .
9.  Whenwe , say that f is 8 function from set X0 set Y, then setXm called
(a) Domam off "~ (b) Range off ,
(© Codomainoff ~ °  (d) noneof these
10, The term'“ function ” was recognised by —— to descnbe the
dependence of one quantity on another :
(a) Leibnitz () Euler (¢} Newton (d) Lagrange
1L If f(x) =-x2then'range0ffis':' R _
‘.(a)- .[O,w[ I (3) l—oo,OI () ]O,tfc['. ‘(d)+ve real numbers
12. ¥f)= 4
(a) All real numbers | .(b) AII real n,umbefs exceptIO
() All real numbers except-2,2 - d) | only +ve real numbers
If a graph expresses a ﬁinction, then a vertical line must cut the graph
ab _ : L .
(a) One point only - | (b) Two p(iints
| () More than two pomts '_ S (@) No point |
U K= {x__l ! :’Vﬁﬁ 8 S22 then domain of fis :
(@) (0,21  ® 02 (421 @ all real numbers
15.  The graph of a linear equation is always a
(8) straight hne ' o - (b) parabola
@ crde @ cube
The domain and rangé of the identity function , I : X— X is:
(a) X C (b) +ve real numbef |
(c) ’;-ve real number  (d) integer 7 T
17. The linear function f (B =ar+bis constant function if :
(8) a#0,b=1 - (a=1,b=0
(¢) a=1,b=1 () a=0
18. The lmear function f () =qx +bis identity function if :

() az0,b=1 ) a=1,b=0
© e=1,b=1 @ a=0
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19.

20.
B
2,
23,

24,

25.

26.

21,

If y = cos v, domain = R, then range is

(a) -1, CEERY (¢) R-E-1,1]. ) R0, 1]

.Ify-tanr domam_{rixe Rx¢(2n+1)2,n 1nteger} then

range is

(a) ]~1., I O 1,1} (¢ R-{-1,11 (d) all real numbers

If y =_'sec x. domain = { xlxeR, x':& (2n + l)g, n integer},' then
 range is . : ' 3 '

(@ FLI &) L1 © R-[-,1] - @ R-k,1[ .

If y = cot x, domain= { vlxe Rx# nm,n integer}; then range is

(@) y21l,y<-1 B y<ly2-1".-
c) y<1y> 1 (d) all real numbers -

If y cosee x- domam {x fre R xat AR ,n mteger} then range . .

is _ , o .
(si)fy,§1,ys-1; b ysly2-t
) y<ly>-1 (d) all real numbers

If x= a" , theny logax is called logarithmic function when

(2) <0 ' (b) 2=0 (o) a>0 @ a>0a%1 -

If coshx = ;,_,-x then its domain ig set of all real numbers and
| range is |

(a). set of alll real nurrrlber‘sr : (b} éet of {-ve feal nmhbefs |
©he (@ (~w,1]

In loganthmlc form ‘sinhz can be written as -

@ (xs Z7T) b (xe «JxT—)
@ m(x-ETT) @ ln(x— a-T)

In logarithmic form, c'osh”lx can be written as
@) ln(ac+\};vc2 ) - () In(x% \]xz-,l)
(c) ln(x— \]xz ) | @ ln(x-e \lxz-l)_
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28.

29,

30.

31.

32.

33.
i
35.

3.

In logarlt‘wmac form tanh’ x can be written as

@3 zn(l”) 1xi <1

() In ( !

V1 x2

+——-—-—) 05i<1

% !n( 1) Iel <1

In loga'rith mic form, eoth™lx can be. written as

, In logarithmic form cosech lx can bé written as

{a) §log(1—t-x—) , el <1

(c) log(

«]—3}7

0<x<1

2 + xy +3'2 =2isan example of

~(a) linear function

(©

explicit function

+1

#0

(a)— zn(l”) Iel'<1 ) % ln('x+1‘,(xl<1 |
© ln' %+—i§-—"— 0sr<l @ in (1 m"_z_)
‘In loganﬂ*m]c form, sech 1y can be written as

@3 m(“" il <1 | ) % I (24 lah<1
(c) In 1 \(—-—r‘ .,O,{xSI @ ln(l W)

(b) 'élo'g('xx_ I )', |'xl < 1

(d) log (% + ,1;' ,‘cz) ,

(b) quadratic function
@ iniplicit function

x= atﬁ‘, y =2at are the i)ar'ametric equatidns of

(a)

circle

-0, parabola. (c) ellipse

(dy hyperbola

x'=a o8 9 y=ga sinf are the parametnc equatmns of

(a)

mrc]e

(b) parabola (c) ellipse

(d) hyperbola

x=acos9, y=b sin 0 are the parametnc equations of

(a)

circle

(b) . parabola (c) elhpse

(d) hyperbola

x=asec 0, y=>b tanBarethe parametnc equatlons of

®

circle

() parabola (¢) ellipse

(d) hyperboln

220
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37.

39,
40,
41,

42,

4

46.

47,

: .-(a)

- 48

'The function,, £(x)= 3% 4 7-242 is =
(a) even (b odd  (c)meither (d) none of these

Thé 'fu_nction, f() = sinx +cos x is ,
(@) even . ()odd () n‘eit_her'_ (d) none of these
I £0x) = 9241, g(r)=r2—1, then (op)®) = ?

(@) 28-1 O 4d+dr @ 4+d @ B-22
fr) = 2643, g =a?, then (@) =?

() 28-1 () d+dx (o) d+3 ('d)_x4—2x2'
If f (x) = 2x+3 g(x) = %2, then (fof )(x)

@ 263-1 O def+de (O desd (dw-fzxa“

If f(x) = 2643, g (1) =a?, then (gog)tx) = ?

(8) 22~1 () &¥+dx (o) dx+3 - (d) -2
The inverse of a.function' exists only if it is

(a) 'an into ;function " (b) an onto function

(0 (,1_—1-)'and onfo functioh' (d) ,trigo‘non_le.tric fgnction

Iff(x) = 2+\ix¥1 , then domain off 129 S

(8) 12,00 O I (é)nw[ (d)um[
Hf@) =2+Yx-1, thenrange f =
(@) 120l OBl (@ [Lel (d)11«=[

Lim sin . '_1 ifand only if -

150 g

(a) xis an obtuse angle '(b) x is a right angle

T : Yy - -
(¢) 0<x<é- | d)xe( 0) d(O, )
Afunction f (x) is said to be continuous at.x=c, if -
P f (x) ex1sts E (b) flc)is defined -
Ed o o
Lim

f () te T@= o (d) All of these

f(;ﬂ=_ax+bw1tha¢0is

(a) A linear function ' (b) A quadratic function
SEF A constant function (d)" An identity function
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49.

50.

51.

52

63.

54.

55.
" 56.

57..

: 58,

59,

' (a)

If f:X —> Y is a function, then the subset of Y containing all the i 1mages is
called : '

(a) domainof f  (b) range of f (c) co doxr‘n‘ain of f (d) subset of‘Xt
The graph of 2x‘- 10 =01is a line _ | '

(a) “ parallel to X-axis : @} parallel to y-axis

{© | inclined at angle 6 | (d) thro.ug}i Tt apd 9nd quadrants
cbs‘echx is equal to | - | |

et ' et +er 2 2

Gl e—2x 15 equal to
15 e
2x_ 2% q B

(a) sinh 2x -+ (b) cosh 2x N --(c) tanﬁ 2x (d) coth 2x
The function f(xy).‘= ;‘i‘f is discontinuous at x =

@1 '_ -1 (0 | _“ (&) all real nm;'ubefs
If ()= - 22 + 4y~ L then, f1)= e

@s B8 @0 . @

The quantity which 1s used asa vanable as well as constant is called

‘(a) Parameter (b) Constramt {c) Real number ) Non of these

1 L
I f(x) +4 , X# -4, then range offls

(a) R~{1} (b) R-— {-—4} (c) R-:{O} (d) afI real ’numberé

fim e -
| .kai 1 B ©0 . @1
(a)' L (5)_‘00 ©) -5-1'53’—3-} @-3
@ 1 Bo © ©2 @o
fx)=x° +X is: | '

80,

{a) Even  (b) Nejther even nor odd (©0dd  {d) Noneof these
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: ! : . |
61. lim (1+¥)" isequalto:

1) s ]
(a)e (b e (e) 0 (@1
62. 1f-£: X = Y is a function ,then elements of x are called .
- (a) Images "(b) Pre —images  (c) Constants - (d) Ranges
= -
R\ |
“la) e el . @er @ Ve
64. Lf the degree of a polynomial function is 1, then it is a.
(a) [dentity functior - (b) Constant ffmction_ '
(¢yLimear function = . (d) Exponential function
 65.f(x)=Sinx+ Cos x1s : L '
_(a) Even function . - (b) Odd function
. (¢) Even & odd function o (d). Neither even nox odd function

66. Cosh’x+SimhZx= : :
{a)1 (b) Cos h 2x - (©Snh2x . @O0
67. [ff(x)=x2-2x+ 1thenf(0)=

@-1  ®0 @l - @2
. X o
68. llm——isequalto
,\—il)'Sln X - - . |
(a)0 () 1 {c) -1 (d) Undefined

69. The function of the form, x =acost:

(a) Odd function  (b) Explicit | functmn © Parametnc function ‘(d) Even

70. Iflf(x') VX+2 then range of f ! is: |
@ [-2.+0) B[2,+®) ©@(-®,©) @[L+w)

-5
Clim == s equal to
P J; | L - \
@0 - (b__)—oo (c)+ @ {(d) Net exists -
72. The volume V of a cube as a function of the area A of its base is:
5 7 N -
@ (4)? - (b_)x/z o A @) 244 j

X

. Joa =1
73. lim —1is equal to
S x=0 X . - : .
(a)logex (b} logqx . @©a (d) Jogea
Loosinxt -
74. 1tm 1s equal to :
Cas0 ‘
(@) A (5) 130 {c) 180 ‘(d)l
a) — by — c T
- 180 4 L
75. If f(x)=xSecxthenf(m)=
C@-2r W-7 @r @27

“Unit — 9 { Differeﬁtiatidh).

TYPE-1: [Multiple Choice Questions (M. C. Qs) ]

d .
71. a; tan3x = ?

Lt
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@)3sec?3x () -;;_sec2;3x' »(c)‘cotv3x (d) sec?x
g
—_ —‘)
2 g%
o n2 x '
(@) s | OB
Way  WE . OFE O
3. Ify=e™,theny,=? . P
(@) e b 2% - (@ dex (@) 166
4 = (ax+bp =2 |

dx ‘ .
' (a) n(a"‘1x+b) (b) n(ax-:-b)"‘l (¢) n(a"‘lx) (d) na(ax+b)""1

5. ' The change in vanable x is called mcrement of x. It is denoted by &
which is

'(a) +ve on]y‘ (b) -veonly () +veor-ve () none bf these
6.' The notation 7 L usgd bj-’. | |
() Leibnitz () Newton () Lagrange (d) Cauchy

‘7. - The notation ?"(x) is used by .
"'(a) Leibnitz ) _New'toﬂ © _Lagrange (d) Cauchy g
8. _ Thenotation ' (x)or ¥ is used by | . o
_ (a) Leibnitz () Newton {c) - Lagrange (d) 'Caut_:hy.
9. ‘The notation Df (x) or Dy is used by ' ' ' '
(a) Leibnitz () Newton (c) Lagrange (d) Gauchy

n———

di ” 1is used for derivative of y w.r.t. “x’. Hereitis not

the quétient_ of dy and dx. |

Note. The sﬂbol « 8

Lim 7()-f(@
S xa x-a

@rw O, © M0 Ofe-a

=7

11, ‘% () = gxn-l i¢ called ;-

(a) pOWerruie : () product rule

(¢) -quotient rule | " (d) constant rule
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d

| 12. ax
(a) areal number

(¢} an imaginary number

_ _ I
13. dx(sma)-.

- (a) cosa () acoso

u Llwegwl=n .
(a) f'(x) +g’(x). |
@ f g+ gk
15. [fg]’=7?
(@) f'B+gw

© f&) £k + ) g)

(ax + b0 = ﬁa(asyp+ by -1 is valid only when n must be :

(b) -a rational numbe;'

(d) an irrational number

© 0 - (d) —acosa

. D) f)-gk)
@ f (x)_ g'lx)~f'(x) glx)

b fw-gw

@ f) g@-f'w) g

Remember that [f(120)]'= = [fg®].

dr 1 L
16. dx E(T)—] .‘-"?l-‘ o
(a) Teo) B ) P (b) 7w
1. Ff@= 1, tenf'@= 7
2 1
(a) -3 | M) —&g
18, (fog) () = ?

@) f'g
' 0 flegtdg'W

© [____g'(x)- -g'tx)

g(x) J? @

1 c 2
‘-(C),EE d o

® few -
(@ cannotbe calculated

Remember that Q‘og)’ (x) = (—%—C— [( fog) (x) ]

d

(a) nlg @]*=! -
© nlg @ le'w

19,

W @l

@ lgbr-ll')

[em P
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4 o, |
20. . P sec x
1 ‘ : I
— ' b)
(a) lxt \/xz_- 1 lxt sz
0 —L o e —
il 142 - O Iaz:l\',lﬂgc2 '
21, dx Aco‘sec x -,.'.
(a) _.___1,.,.__.. - (b) _; '
lxl Va2 -1 - . o hxl \}x2 1
0 —Lr =i
el yi+x2 Ixi\11+x2
- 22, The function f(x})=a*,a>0,a%0,andx is any real n_umber is called
(a) Exponential function (b} logarithmic function’
(c) algebraic ftinction o (d) composite function -
23, Ha>0,e#1,andx=0a", then the functmn defined by y = loggx
- (x >0)isa loganthmlc function with base
(a) 10 : .(b) e © a - (d) x
24. loga = 7. o \
(@) 1 Ma  @a® (@ notdefined
25.. dx logm'x: =7 . L
1 Mr . In10
(a) = loglO OHn ©9ipe @ Y]
(a)f (2) .(b) Inf'(x) (055 f( o D f@fly
.27, y = sinh™ 1Jr: if and only 1f x= smhy is valid when o
(a) x>0,y>0 ' b)x<0,y<0
-(é)xERy>'0' - (d)xeR yeR
'y- Uosh ly 1f and only if x = cosh y is valid when

(a) xe[loo)ye[Ooo)'l ‘;(b)xe(l }ye(Ow}
(©) £<0,y<0 @ zeR,ye R |
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B

29.

y = tanh ly it ind on]y if x = tanh y is valid when -

" (a) zeR,ye R

- 30.

31,

(0 xel-1,1], ye R

(b)xe H1, 1[ ye R
(d) x>0 ¥>0

¥y= coth“lx if and only if x= coth yis vahd when

() xe R 'Y€ R .
(c) xe -1 1f,ye. R {O}

(b) xe -1, l[ ye R
(d) x>0 y>0

y= sech™x if and only 1f 2= sech y is valid when

" (a) xeR,ye R

32,

© zel-T1[,ye R

(a) xeR ye R .

.88,

34

36

87, -

38,

flx)= f(©) r+x f"(f +

(c) xe[-1 1] ye R

If _y =sinh L (ax+b), then_‘ % =1

" (a) cosh(ax+b)

a

(© —
¢ V1_+. (ax + b)2

if y= cosh 1 (secx )., then Ci-l’ =7

dx

(a) cosx |
(¢) ~sin (s'ec.x)'_“ |

35,

Ify=e™ thenyy=?
(a) —ge™ (b)‘ '}ag o
If'y;_-e— then yg- =7

: (a) ~qetm (b) ~—ae?*’”‘f ‘

Ify.. cos(ax+b) theny, =7
-(a) o® sin(ax +b) '

(c) —a? cos(qx + b)

2
._.f'f/ 0 +

{a) Maclaurms series expansmn
" (c) Taylors Theorem

NN

_ (b)xe[-l 11, ye R

d xe (Ol]ye[,m}

y= cosech“lx if and only if = cosech 'y is vahd when

(b)xeR {}yeR {0}

@ xe(Ol yc[Oool |

1
V14 (ax + b)Y

() acosh™ (ax+b)

{h) secx.

(@ sinh~! (secx). tan

© a?¢® (@) 2%

9 20X

(© a?e2% . (d) —q?eos

- b) ~a? ;ﬁn (0x + b
: :('d) a® cos(ax +b) -

Lo

H OO+ . s called

'(b) Taylor 8 series expanswnu
, (d) convergennt senes



39.

(a)
40,

41,

42.

43.
 itsgraph wﬂ;hm ]a, b{remains

45.

46.

dy

Il'_ - Objective Type)duestions 3

tex+x2-d 4t = ?

| (¢} slope of normal at (xl‘,-yl)

11
(c) E-_x . =7

11
1+x | (b)l-x
[Hmt: Use Seo= T witha=1,r=-x ]
represents
R NN :

" (a) increments of x and y at (x1,51) (b) slope'qf tangent at (x, y1)

(d) slope of horizontal line at (x1, y1)

f is said to be increasing on la, b [ iffor 5:‘1, 1 € 1, bl

(a) fly) 5 f(z;) whenever x; >, |

®) f (9_52 ‘): > fx; ) whenever 2y <x,

W@ flw) < f(x1) whenever. 2 < x

v(c‘) flx) < f(&c‘l)Whenever‘xz >x

f is said to be decreasmg on ]a, bl if for xl, xz €la, bl
(a) f () > f (xl)whenever > 1

(b)) f xg) >f xl)whenev_er % < x

(¢) flxg) < f(x1 ).whenever-xg.w_q |

(d) flxy) < f(fl )'v'vhénever Xy <x

If a function f is increasing within Ja, b [, then S]Ope of the tangent to

(a) positive . (b) negative

its graph within lo, b [ umams

(a) posmve (b) negatlve

- fo) zero () u_ﬂdeﬁned

- Ka function fﬂ is decreasing within la, b [, then slope of the tangent to _

{¢) 'zerb - {d) undeﬁned

A ‘point: Where Ist derlvatlve of a func1on is zero, is called

{a) stationary point -

(¢) point of concurrency
flx)= sinxis '
(a) linear finction -

(¢). even function

(b) corner point

(d) common point

(b) .odd function
© (d) identity function
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.

48,
19,

50.

-5l

52.

53.

54.

55.

56.

| (¢} point of inﬁection

The maximum vafue of the function : f(x) = 22 —x-2is
@ ~5 . -3 ©-1 @0

d o o4 .
gy (cos x) - 5—2 (sinx) = ?
: X _

(@) 2Zsinx (b) 2cos £ () O = .(d)—ZSina'r

I = 3 #2049, then ()= 7

(@ 32 42 (b) 32 @6 (@2
E; ( 10 sin . Y) = ';

(2) ‘10008-5" | C ) 1051% cos . In 10
@ 10M% ;10 . @) 109 nj0

If f(x)= sin’r, then /f*(cos—l 3y = 2
3 -3

@ wsx () = () = (@) 3x
| OS’_. | \/1 9x2' S V1-9x2
dfr 1V3, o
dx(vx—_\];‘ =

I T T SR
@ 1~ 5, (b)lﬂ_xz (c)_l%wx2 @0

Atx= 0 the function f(x) =143 'Hés
“(a) maximum value (b) minimum Vvalue

(d] no conclusion

o dy
Ify=Sin'\/; , then jz-isequalto:

- Co&-\/; Cosf o Cos)c '
(8) —— () — (9 Co \/’~ )
SEEN RN Wy

Let f be differentiable function in nezghborhood of ¢ and f (c) 0,

rthen f(x) has reiatxve maxima at ¢ 11'

@ ff©>0"-® f@<0 © f©=0 @ f %0
'y =(x) has the value: . . : ‘
. {a) Mlmmum atx=e (b) Maximum. at x =
(cy annu_m atx=—~ (d) Maximum at x = -]- '
. e ) . e

4
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Cod 1)
57. ~—|-——|=
dx(CatxJ

(d) ~Sec? x

(a) - Cosec?x  (b) Sec?x | (¢) Sec? x.
58. Iff(x) =%, then "=

- P N

(a) 6™ (b) —e* (©8ex - (d) - e
_ 6 S 8§

) d fan y 3
59, —e™ zsequal to
. (lx -
- (a) e""’ *Sec? x (b) e'*"“ (e InSectx  (d)ewnrIntanx

60: x> —-——(In 2x) =

‘(d)‘ﬁxz |

@

(d) 2 e

' (d) None

(a) N OF Y N OF
61. ‘—u-—(5\) equal | .
‘dx -
X 5 - .
(a) ° (b)E]— (¢) 5In5
~InS - -
62. ' If y=e?, then yaequal:
(a) 16 e (b} 8ex " (c) 4e% -
63. If f'() =0, ‘then f has relatwe maximum value at x =¢, if
@ 020 <0 ©f =0
/ N
64. L {Cosec x) is equal to
dx

(a) Cosec x Cot x - (b) Cosec x. tan X

(c) -Cosec x Cdf x

| (&) Tanz .

65. A function f 8 neither mcreasmg nor decreasing at a pomt provided -

that f*(x) = 0 at'that point . then itis called :

(a) Critical pomt
(o) Maximum point

d :
66. — (x?) is.equal to

dx | :
(a) -2 (b) -2x2 (©-2x-3
67, ~—(cos™! r) is equal to
de _

@ T f—— : (‘C)_\['_—T
, - WXt~

)

(b) Stationary point
¢d) Minimum . point

@

o

1-x*

- 68. | The function f (x) =gx’+bx+¢ has minimum value if;

' (a)a>0 (b)a<0 @a=0 da=~1
| x| | | -
69. hm — 18 equal to: |
@1 () Notexists  (©-1 () Zero
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70.

T

-3 .
ST

i)

74

lex+xt—yddyl+ L b=l +....1s'the expansion of;
, 1 | R B B o
@ —— (b)) — (€) —mmmm ) ===
- I vi-x NI+ x
. . * 2 . )

- o . 4 LI
. Dervative of vo= —X +—1X I8

S@) bz @3 @ Noné.ofthese

-l--lba

lf f (U"O f (x) £0 atapomtP, thenplscalled

(a) Relative maxima .~ - (b) Rela_tlve minima
(c) point of inflection - " (d) None of these

- 1f / be a real valued functlon contmuous iri the 1nterval ] x x [ eDs.

o fep =)
then bhe quotnent “‘i":"{— is called
Xy S
(a) Denvame of f (b)-Differential of f .
(c) Av erage rate of change of f  (d) Instantaneous chatige of f

5

[f f be a real valued functlon continuous in the 1nterval jx x [eDs -
CLim ) ) -

cand if ., T Céxists” then the qtiotient is called

xi —X .13 ._ X } . }
(@) Devivative of f - . (b) Differential of /
(¢) Average rate of change of f (d) Actual change of f.

' H/{\)‘.x +’v3+\*-‘ then f(O

(@d , .+ . (b)O o (e -4 | ' (d)‘i

If gis dlffelentlable functmn at- the pomt x and f is dlfferentldble at

point g(x), then (fog) X) or d fog)(x) = _
«(a')j/‘ _(x)-g o) (/ og)(,v) @ f" (@ 0. g (x) .f' (g (xn

dv
If v= smh ‘1(13) then 5,“; =

R " 1 3
‘(d) m (b)-\h—+—1 © \/_ad’ ()m

If ¥ and /r are two 1ndependent quantmes and f (x + 1) can be expanded -

“in Mcndmu pow ers of /i ag an mﬁmte series, then

. . . - L N . t' - . . l ‘ f
/(.r+ M= f+iyg m+ =T f (x) L f(”)(x)+..'. is called
{a) iner SOrIOS {b‘) 1\*1;1cl-arme senes () Tavlbr series  (d)all of theqe

\funcn(m/ X} 1S such that atapomt \-c I () > 0 dt x=c, then

- [ iz said to be

() Increasing  (b) decreaging (6) constantf' (d) _1-‘1.f{mction
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30, Afunction / (_.1').‘15"&1&.}1 that. atrapoint x=¢. [ {x) < 0 at r=c. then
fissaidtobe o o y
© (a) Increasing  (b) decreasjng {¢) constant (d) 1'-1 funetion

51 A flln(,thllf( ) 1s such that, at a point x = ¢, j )= 0 at x=c. then

x /1s adlld o be ,
(a) Increasing  {b) decreasing  {c) comt-ant {d) 1-1 function

82, A ppint whew f s neither mueismg nor deuekmng is called ——
iprovided that f x1 = 0 av that point.t

\a), sgationary pomt. , . (b} turning point
{c) critical poi'nt - o (d) point nf inﬂe‘mtion
83. A stationary point is caikd — 1f it 18 either & ma*nmum pmnt or a
lmmmum point.. o , \ ' '
(a) atatlnraalg» pomnt - - (b) turning point
(&) critical pomt ’ .+ (dy point of inflection

CRLH fie =0 or e s un'de:fi»n(*d then the nunber ¢ is called crinica)

value and the Lorrespondmg pomt is called
(a) statl(maw pomr R - (b) turning point
(©) critical point- "~ i (d) point of inflection

85. If f (¢) does not change sngn before and afte1 ¥ =¢ then thl\ point is

,called
(a) stationary point S (b 't'urning point
() critical p'hint L o ) 'p'Aoint of inﬂe'('tl"oh

i
~Every atatmnaw pomt is also called critical point but the conver se|

mav or ma& not be true, B : SR L i

86. letf be a dlffeientlable functlon such that f () 0 cthen, if [’ (x

changes sign from pomtlve to negatlve 1e., before and dftEl r=C, then
it occurs ml.\nve —aty=¢ '

(a) md‘ﬂmum (h) nummum (c) pomt of inflection (d) non

87 Letf beadlﬁelenndble furiction quch that. f (cy =0, then i f (x)

chdngea sign from negative to p()sxtwe Le, befme and after x =, then |
atx =c. '

it occurs 1elam e

(a) max;mum : {(b) minimum- (g)-point of inflection (d) non
88. Let f be a differentiable function such that f'{e) =0, then, if f' {x)

does not change sign 'i.e., before and after x =, then it occurs --at x = c.

a .
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(a) maximum (b) mlmmum (c) pomt of 1nﬂectton ) nen

89, If flx)= e\ﬁr th en f’ (0
| (a) el (b\ e ©@©w - @u
90 % (ta‘m‘1 xA—cdt‘lx) =‘" o - “
IR SO §
(a)y Vi+e b T3z @0 -1+ 22

91.

92,

93.

- lim

Iff(i‘);tanx‘,ihen_ f'(%)?' :

@ 7 w-rt @1 anié‘

- fla+h)-fa) _
h .

h=0 A | : | |
we. ® f (@ @ fh @f@
If / zy_l‘c ,'thenaéritical point 'of fis | .

(a) 0" -~ (b) _1‘_ “ (o) -1 - (d) no poiht'

Unit -3 ( Integratlon)

TYPE-1: [Multlple Chonce Questlons (M C Qs)]

L

!.\'a

lf y=f(0. then dlfferentlal 0fv1<=

@d=r e © dy= f(x)dx © dy= f(xdx @ g,”;

If 17 (x) a’x —¢(r )+e, then f (x) is called
(a) mteg1al ~{b) dlffe:entxal (c) derwatwe (d) 1ntegrand
If n#1, then f(ax+b)n dx =

n(mwrb')”“1 b (ax+b)n+1 (a,x+b)”+1‘ - (ax + h)htl
(a) P )' n o S aln+1)

| sin {ax + b)-dx =

(é)—%cos(ax%'b) S _V(b)%' cos (ax +b)

- (C) O‘COS (Gx+b) . : | 5 (d) _acos (ax+b)




=1

10.

11.

12.

13.

@Y @ de =

e ) dbjective’Tfype Questions

~Ax ; —7;3;
@A @) —ieH @ ° 1 d ,eT'_
fat®dy = 2 , |
L x o \ y
@ = ® T © g @d¥rina

O Hom ntl o '
@ L w0 B g g

_ o - - n+l
Py =2 o
@7y O @Nnf(o] @ hfe

o de e
oy onte rabated

x<0;a<0(d) x>0.2<0

(a) x>0—,a>6 (b) x<0,a>0(c)

j

dx =7

@ V23 () -\243 (© @ @ —% 2+3

Jaxz-xdx =9

ox2 Co a2
@ Bime  © ¢ e @ O

9% f)+f" () dx = ?

@ W) BT © oe® fE) @ ad® ()

[ eX[sinx+cosx]dx =7

- @ ¥ sinx () e¥cosx - {c) ~eFsinx (d) -e¥cosx

14-‘ '

5.,

To"\cleterﬁn'ine. the area under a curve .by the use Qf integration, the idea
was given by s ‘ ' '
(@ Newton  (b) Arthimedes (c) Leibnitz  (d) Taylor

. . - . d2 d o
The order of the differential equation : x "‘% + a‘z -2x=01s
S ' o dx* *

@ 0 w1l @2 (@) morethan2
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T

7.

8.

19.

I -
2

23

- () ASec_l_x+ci (b) Tan‘llx‘ﬂ- (e Cot

-

E The equanon ¥yE - ?1 + ¢ replesentq (c bemg a paramebel )

{a) one parabola " ' '_ .. (b). family of parabolas
(c) family of lines'l ' (d) th parabolds
JeSINY cosx dx = 2 o . |
o hnx éos . eSin x . gSinx
(@) eSI (b) e | f'(c) e (@ sz

fr+ 32 gy = 7.

. 1 1 : y 1 @) Non
" g(‘u.t+3) 3/2‘ () t‘5(:5.%__‘_:3)"—1/.’. (© §(2x+3). - (d), None

TI+1

{ ¥ dx Tl s true for all valuéé of n except
(a)“n«:O o - (b) n=1
() n=-1" B S (d) n= any fractlonal value :

T

.) V

()" (@*-a)lna () 7 Tog a

eTén;-lr ]
[ = 5 dx="7?

I+x K ‘ |
(a) .'eTamc :_,_C (by Se Tan‘.l_x‘ e (o) Tan~ix to (d) Tan™%x +e

i ‘

I : dx =7

ryxe-1 .

S TITE (d) Sinlx+e

J"Sin 3 x dx is equal to:

(a) C?;&x.#c' ) - Co

+c (c)BCos3x+c (d) .iCos3r

I -Ijj'_(‘t_\')'dj':.S.‘]J.g_(.\')d;r=4; then’ J3f dr—'j')g(\ dv =

@ 77 | (by 9 . .(c} 12 : D8

. TN
'J‘C’ <" (1)d\—_

@hf@re  Bete  (© In f e .(d)_‘ef’m te
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26. j Cos xdv =" S p .
) Smy+c¢  (b)Sinx+c (¢)-Cosx+¢ {d) Cos x¥e

27. 1fa>0anda # 1then, ja*“dx: .

»

" . AR -t ‘ "+I
. e -
(@a)a*+e¢ - bya*lnat+te - () —+c (d) +c
S o , ma  S x+1
dv B |
28, - = o
I l+x o ‘ . .
- (@uanx+c  (Mtantxte  (@Cotx+e.  (d)Cotlx+c
29, —-f_—ii‘f-!-u‘.\f: '
VAT N : __ A
C@lny (byln fix) (c)vln [l (d) f () Inf () :

. dv
30. J‘ : 1s equal to:
Xhnx. = , ‘

o - (alnwx +_(" (b) x+¢ (@In{lnx)+c (d)‘ In {In(ln x.))-l.-c“
31 _[SE:Cx dx 1s equal to: : 7 o "

(a) In (sec x + tap v} + ¢ . (bYIn (cosec ¥ —cot x)+c
e inisec x - tan §) e {dj <In (cosec x—cot ¥) +¢c

- —— 15 equal to:
S x-lnsiny

(a) In (In ‘(c.os x)+c. (b)n _ln (sin x) + ¢ (¢} ‘ln‘-sin'-._r te (d) 1n cos x‘+ c

J- <os vy -

‘ : S dv \
33. The solution of differential equation *[i =sec’ x is
. . : .. " . . . ( '\‘) -x . . ‘. .
(a) y=cosx+e  (b) y=tanx+c " () y=sinx+c(d) y=cotx+e
3. ' f 2¥ dx is equal to )
@y T @4 ()0
3. .fc sinby dx 18 qual o . | '
- C’k‘. . - 'el.\" ; : 7
(@) ———(asinbx—bees )+ ¢ (b) ———= (b sin bx +a cos bx):
Cat+h a4 +h” : -
. ‘ o R _ By . -
©) —— (asinbr+bcosby) = (d) ——— (b sin bx ~acos bx)
a +f>j - . oar H)'_ _ .

36, _?'J‘.f. () dx. 18 equai to
: 7 ok . A. ‘ h . i :
wo b ffmde o= Sk @ [fde

a
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| .
37. dx equals
J ax + b

(@ %;ln jax+bi  (®)lnlax+bl © (ax;bf  (@mlx+b)
38. I.n I(;‘cz - az-)’l‘/2 dx; , 'th'ey Sﬁbsﬁ.itution is: ‘ _
| (@) x=atan & (b) x.=a sec 9 x=a sm9 (d) x.= 2asind
39. Ix Cos X dx is equal to: . ' '

(a) sin x + cos x (b) cos x - §in ¥ (c) xsin x + cos x (d) None -

40. Icost dt_ =

e o ‘ I
3o B B
- - ———2Z - (d) None
(a)‘2 7 (b)_2‘ 5 _(c)2 2 ,(), t)ne

o Vv ‘
41. Solution of differential equation —d— =2t-7 18

t
a)L“t‘ B +¢ (b) t2+7t+c(c)v z*—2—+c (d)v {2 - 7t+c

42, ‘In,verse of J ........ dx 18 | o
i d NV ad/
@ %, wmw‘wm CL 7%
43. The ‘suitéble substitutioﬁ for J ~x' dxis: _
 {a) x-a=acos § L ‘(b)x—cz:f'asin é.
, {(®x+a=asinfd - - = @ x+¢=acos.@

44. I u.dv. equalsto
(@ vde - -Ivu (b) uv + Iv du (c) uv — Jv du (d)udu+ .[Vdu

=x

45, Jsinf x dx equals to:

0 ' : .' '
(a) -2 o . (o) 2 d 1
. N : . ) . : i ‘. ) gl_- x .A )
, 46. The general solution of differential equation dr= =y 18
@y=c Bi=c @usc @ap=c
x+2 S '
17, j——dx
x+1

(@) In (x+1) (b)ln(xfl)—x‘ (c)m;;(m) " (d) None
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48. _“Sin'zxcosx.d)c- :

(@) L © Lot ©-ssimy (@ eint
- — gl -—sin‘x (d) sin* —
R S 4
49, jx et dx | _
(a)xe +x () xer~er () - x C (d) None of these

0. | o

sX+9

) ‘(a)% -(b)%_. O @ Noneofthes

51: Solution of differential equation Exz = -y is

. (é) y =¢ex  (B)y=cet - (Qxy=c  (d)None of these

52 [f@. g Wdx=

@ f(e®)- g Wdx ® fg@+ [ew). S W

@ (x_,)-g’(x)—Ig_(x).f(X)dx @ fx)g'(0)+ Ig(x)_vf_ (v

. 1 ) .
53. [ +Inx]dx =

" (a) e_"tl. | (b)~~e_"‘l . (©e'lnx d-=e' Inx
i n | .' ) .4
54, [ sinzdr= _ _
. - . ; ' - -
(@2 (b)-2 RO (dy-1
S 2 S - .
55 | 1x| dx=
1 e 1 . 5 3
g - ) - — oy = d) =
(%1)2 , (b) 2 | (0)2 (‘)2.
1 1 1

56, 1 = 5, =
56 f_[z f@) dx= 5, _Iz g (¥) dx= 4, then Jz

@n  Bm 09 @

57. .I'(4x+“k) dr = 2, then k=
0 i ’

T R T -2

[2f@+3e®]dx= "
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- . '.4( )

S S - ﬁ‘ 1 .' _
p8. , It dx §1+2x ) (le_.i. 1)2" then 2. .JI ‘ (2x + 1)2
0 9 1 Ty
a) — . (b= o) = oWy =
59.‘. fe28eCY gocvtanxde =
“'(a) lezkt;ecx':‘ (b)__e'Zsecx"_ ((;)e-secx ") '—l—‘e sec X

60. Solution.of the differential equation: g‘}' = == s
‘ : ' * Vl—rz | ,
(a) y-—.si'n X+c (b) y=cos” r+c (c) y= ta“l}".x'+c (d) Non
(.31-‘ fl.'x[l - ] dx =
- el 2 o
B | 1 L 1
(a) e'— by-e'— . (e'lnx  (@d-e —

Unit - 4 (Introduction to Analytié'Géometry)
TYPE - 1: [Multiple Choice Qnestions (M. C. Qs) ]
Each quesuon has fom possible ansuers. ka (N ) the correct one.

1. Ifx<0,y<0 then the point P(r y) lies in the quadrant

@1y I - (o LI SRV 3
2. The pomt Pin a plane that conesponds to the ordered pair (x, y) 18
LaUed | . .
(a) gr aphbf « x. V) _ | . = '(b),mid.point of x5
(«© abscma of Ny | ':r.(d) ordinate of x, y ~

3. Hfx<0y>0 then the pomt P(—'c - ) lies in.th=e quadrant
(a) ] CR @ m @I

4. The str mght lme which pasqeq through one vertex and through the mid-
point of the oppoqxte mde is called v '

(a) median b)alutude {c) pelpendlcular bisector (d) normal

5. The str a1ght line w‘uch paases through one vertex and perpendlculdr to
~ the uppoqte side is called '

(a) median (b)alt;tude (o) perp.endiculér bisector (d) normal
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" 6. The pomt whele the medians of a tuangle intersect is Lalled ~——of the
- tnangle o S _ .
(a) centroid . . '_ (b} -centre  (c) orthocentre ~  {d) circumcentre
7. ‘The point wheré the ‘altitudes of atr 1angle 1nt,ersect, 1s called —ofthe
triangle ‘ oo
(a) centroid : .(b)' -centre (c) orthocentre  (dy circﬁgncentre

8. The centroid ofa triangle divides each median in the ratio o‘f]
SER b1 © 101 (@ none ofthesel
9, The point where the angle bisectors of a tmangle 1mersect 18 called —
of the triangle o |
(a) centroid - lb) intentre (© Clrcumcentre (d) orthocentre -
' lO. If xand y have oppos1te signs then the point P(x, y) lies in quadrants
(a) I&II | {b) I&III ) N&IV (d)l&lV
11 A line blsectmg the 2nd And 4th quadrants has mchnatlon
@0 @ B @ =
12 w, = x1s the str alglnt line | '
- {a) bmctmg the Ist and 3rd quddxants o '(b)parallel tox-_‘ axis
(o) blsectmg the 2nd and 4th quadrantb - (d) pérallel to y - axis

9. If all the sides of a four- mded polygon are equal but the four angles are
not equal to 90 each then it is a

{a) klte I )} 1hombus (c) parallelogram (d) trapezmd
14, lf ¢ is the inclination of a lme ! then )t must be true r,hat '
a) 05u<.r7.‘ S " (b)';ls(wn
‘ ",'c)0<cx<n e “(dy 0<a< 2n
15.  The slope-intercept form of the equation ofa straight line 1s
(a), yEmrte o L ‘(b_) y=y = mx-x)
(clE Z =1 © (d) xcosa+ysina=p

| 16.  The two- mtercepts form of the equatxon ofa straight hne 18’
ta) y=mx+e . o (b) ¥=¥ -m&x rl)

(c)-;£ +% =1 - S ), sta+ysma—p _
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17.

18.

19.

20,
© 91,

22,

23.
| 24.
25.
26.

27.

28,

The point (- 2, 4) lies

Objective Type Questions

The normal form of the equatio(n of a straight line is |
(@) y=mx+e . b y-y = mle-xy)
(© f + % =1 - " S (d) x-éosa-lfysinaj:-p

In the normal.form xcos a +ysin a =pthe value of pis

(a) positive  (b) negaﬁve (c) positive or ne‘gati\'re (d) zero -

x-%1 _ y-=y1

If o is the inclination of the line ] thep wie - smo T (say)
s called |
| (a) point-slope form | L l(b) normal form -
.(c) Symmetricl form - (d) none of fhese
The slbpe of the line ax+ by +c=0is _- |
@y w-r el @-l
’I‘he_slbpe of the line per‘pendic;ular. to ax + by_-i- c=0is
@ w-t el w-?
The Géheral Equation of the straight line in two variables x and y is: |
(a) ax+bjw_,+ 0‘2_0.' ) aJ;2+-by +e=0
(o) ax+by2+c=0 o (d)'axz+by2+§:=0_

The x-intercept 4x + 6y = 12 is

_;(a) 4 ®6 . @3 '(d)'z

The lines 2x +v+2=0 and 6x+3y~8 = 0 are

(a) paralle] . '(b).(perperidic‘:ular (o) nei‘the'r (d) non copl_a'nar o

the line. 2¢x+5y-3=0

(@) above ' (b)l below © on - (d) none of these

If 'thrree‘ lines pass t_hrdugh one common point then the lines are called

(a) parali;al (b) coincident @) concurrent (d) éongruent
2x+y+ k =0. (k being a paraﬁ{eter) represents '

(a) one line | R (b) two lines )

(@ family of lin_eé o oo {d) interseéting iines , |

¥ . . . ) _
If the equations of the sides of a triangle are given then the intersection
of any two lines in pairs gives — the triangles. 7
(a) vertices (b) centre (¢} mid-points of sides (d) ‘céntrdid :
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30,
31,
2.

343

34

3,
5
37.
38.

-39,

o mpemy | _ [ my=m,

{a) teno- 1+ mym,| _ (b) tapd)- L+ mmyl -
| mytmy o my—my
(C) tan ¢ 1+mym, (@ tan ¢ '7 1-m,m,

A four- sided polygon'( quadnlatexal) havmg two parallel and two non- -
parallel sides is called ——— '

(a)- square ’ (b') rhombus (c) rrapezmm (d) parallelogram

' Pquarmn of \cltlc;ﬂ line thlough (—~ 3, 3) 18

(a) 1mJ—O*' (b)x+o 0 16)3/ 3 0 (d)'y+3.=0

' bquatlon of honzontal hne thlough (5, &) is

@ x50 (b x+5=0 «\y—3—0' m)&+3~0

Pquatmn of Imt thtough (- 8.5) and having slope undefmed 18

(a) .\fb—’.—‘(‘)w‘ (b),x--8—7-0 (c) y-56=0 () y+5=0

If § be the angle between two lines {, and I, with slopes m, and m,, then
angle from /. to [, 12 given by '

m,—m, o’ ' LMy My

‘ (d) tang = l +mym., () tang= I+ mymy
- my+m, o | m =
() tang= 1+ N, (d) tan ¢ = -mm,

If ¢ be the acute angle between two lmes /, and l w1th slopes m, and
m,. then acute angle from [, to /, is given by ‘

"I‘wo lines I, and L w1th slopes m, and mz are parallel 1f

(a) m,—m‘2 0 (b m,+mz (c) m mg—l (d) m, mz-—l

Two lines l 1 and,lz with slopes mi and m 2, are perpendwular if

(e)ml—n12 0 (b) ml+.m2—0 (chm, my = O (d)y mmy=-1 .

For a homogeneous equation of degiee n, n must be

,(a)en integer '(b') positiVe integer () rational numbei’ (d)-real number‘

The equatxon 1062 - 23xv 5y = OIS homogeneous of degree |

i(a) 0o . b 1 " (c) 2 . r(d) more t_han 2.

Every homogeneous equation of 2nd degree in two variables represents

h (5) aline (b} two lines ({c) two lines through origin (d) family of lines -
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10.
41;
@) h%—ab<0 () h2-ab=0 (9 h 2-ab>0. @h=0"

42.

43.

44,
45.
46,

47,

48.

49.

'51

“’I‘wo lmee represented bv arz + 2hxy + byz 0 are real and drstmct if
(@) hZ-ab<0 (b) h%-ab= 0 © k2 ab>0 h=0

Two hnes represented by axz + 2hxv + by2 0 are coincident if

Two lines represented by ax2 + Zhxy + byé= Qare imaginary if
@ hz—ab<0 ) h2-ab=4. @ h2-ab>0 (dh = 0

The equatlon 1022 - 23xy - 5y2 = 0 represents a parr of lines which are

(a) _real and clistirret - (b) realand coincident

| (<) imaginary _ - d) parallel
Two lines represented by ax2 + haxy + byz 0 are perpendlmllar if
(@) a=b = (b) a=-b ”(c)a<b ' (d)a>b
If A(-2, 3) B4, 1 and C(3, 5) be the vertices of a trlangle then its
centroid is grven by e

(a) ( -2" , §) ()] ( 1 3) R € 3, 4) ' ‘(d)- none of these

The lirles 3y =. 2x+5and 3x + Z;lf — 8= 0 intersect al; an 'angle of
@ 3 ® 3 © i @ o
The equatlon 10x2 - 23xy 5y2 0 represents '
(@) ‘a c1rcle o o | (b) a straight lme .
(OF apalr of lines | o (d) apair of circles -
The pomt P(x, ¥)i8 in the an quadrant if o
(a) x>0,y<0 .(b) x<0,y<0 (c) x<0, y>0(d)x>0 y>0
The slope: of y-axis'is .
@0 [ undefrned ((:) tan 180 (d) tan 45°
The equatlon yz ~16=0 represents two lines” .

~ {(a) parallel to ¥-axis W) parallel to y-axis

' (a) not parallel to x-axis o (b) not parallel to y- arus

The perpendlcular dlstance of the hne Jx+ 4y +. 0=0 from the origin is

@o w1 @92 @
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52, The lines represented by ax®+ thy + byz 0 are orthogonal if

(a) a-b= () (b a+b 0 @a+b>0 (d) a- b<_0 _
53. The h'nés Iying in the same plane are called | ' .

(a) collinear (b) coplan'ar {c) non-coll'rnear (d)_non-cqplanar ‘
54, TBe dis-ftance of the point (3 7) from the x - axis is |

(@) 7 O -7, ©3 - @-3

55, Two lines ax+byt+e =0 arrd ax +;b,;y + ¢, = 0 are parallel if -

(@) ag ~ by (a_)' by T by (© 1 ‘02 (d) 1 _V'CZ‘ ,

56. Every homogeneous equatmn of second degree ax2 + 2hxy + byz" 0

represents two straight lines . . _ ,
{a) through the Origin - | (b) not through the origin
() two .para'llel lines - @ two perpendrcular lines
57.  The distance of the pbint (3? n frorn the'y - axis s
@ m-Te. @3 T @-3
58. The point- slope form of the equation of a straight line is

(a) . y= myte b y- n= m(x X5}

(_c)ﬁi#%.'—"l ' ‘ (d) xcosafysinOt:p

59. The equa"cioh 9x2 + 24xy + 16y% =0 represents a pair of lines which are

{a)- real and distinct | {b) real and coincident
(¢) imaginary o ‘(d) perpendlcular
0.

-6
' ‘P lies above £ if:

'(a)ax1+by3 -‘hc=.0‘ ' : (b)‘ax1+by1+cl.¢'“ ]
(c)arn+.by1+c<0" ' ‘(d)ax1+by1+c>0_

- 61. If miand myare the slopea two orthogonal lines then:
@mi.me=1 ()m .m=-1 @mi.me-0 {(d)m=~m2

62. The Tines represented by the equation ax2+2hxy+ by? =0, are coincident if:. -

(@Aa+b=0  (@®)h-ab=0 (c) h- +ab=0 (d) None )
63. Equationof x-axisis: .
@x=0 - (Bly=0 (C)x 1 (d)‘y=1

Let p(x1, 1) be a point in plane not lying on £ 0% + by +¢ =0, then pomt C




Y

QObjective Type Questions

64. The equation of y- axis 19 o : ‘.
arx=0 (b)) = N (c)x=1 o ddy=1
66. The lines / -ax+bry+ci=0and £, o +byy+tcz=0are

- perpendicwfarif: o
@aib: —azb1=0 ‘ (b) a1bz +azb1 =0
: gy ae - bibe=0 o (darae+bhib=0
66. 1 o tme f mtemectwaxm atapomt (3. 0) theh the x- mtercept of the ]
e (s ‘
@-3 o e @3 @ -

3
- 67, Altitudes of a r,nangle are: . o
{aj Parallel -~ (b) perpendlculaz (c) Concurrent  (d) Non concurrent
68. The perpendicular dlqtance of a point Pm ¥ h'om theline -
Frax+by+c=0.18 '

()d_lax,tby,-i-c, (b)é |ax,4;by,+c|
' a-b" o o J’12
| ax, +by, + +by, +c¢
(c)d:l‘"' y.r, ¢|__ | (d)d uaxi ylz |
va© + b’ A b ,
69 Second degree homogeueoas equatlon is:
{ayaxt+bx+ce=0 " (b)ax3+bx1+cx+d 0
. (ax+by+c=0 | (d)ax? +2hxy +by? =0 -
70. If a straight line is parallel to x -axis then its slope is:
: (a)-1 o . (01 (d) Undefined .
71. The distance between (1,2)and (2, Dis: :
@ ®m2 @ @

72. Interéept form of equatlon of line is:

Cx oy X y
(a) b (b) (© (d) .

b, a b » a
73. The perpendlcular dlstance, of a line 12x +by=1 from ( 0 ,‘(_))"is :
1 ' 13 T
(a).— b)— (e —" ‘ (d) 13
13 I ) 7 _ ( )

- T4, Line passes through the-point of mtersectlon of two lines £, and ,is:
@) kil =kel, (b) £ +hE, =0 ©£, +ke, =2 @ Both (b) and (&)

75.. The coordina‘te-axes'divide the whole plane into —— equal parts

| @2 - b4 ©8 - (d)infinity many
76. I bis positive, then the liney=b hes - L
(a) above the x-axis , (b) above the y-axis
. (c) below the x-axis - (d) below the y-8 axis .

7. A hne x=a ison the right of y-axis 1f a=

(a) posmve- () negatlve - (©0  (d)anyreal number



3% ______Objective Type Questions

78 1 2x+5y+k=0 and b + 10y+3=0 are paréllel lines'thep k =
@B M2 @2 @3

Unit - 5 { Linear Inegualities) -
. TYPE-1: [Multiple Choicé'Qﬁeé_tions (. C.Qs) ).
Each question has‘fovu-z' possib[é answers. Tick (V) £he corfect one. |
1. The solution of ax +by <c is - |
(a) closed halfplane .. (b openhalf plane
(¢) circle o o (d) para:bola. . -
2.- A‘functi_on ﬁhich is t<; BQ maxixﬁze,d or minimized 1s called
(a) subjective fu_nction‘ | M) objective function
() qualitative function | (d) quantitative funetion
‘3. The number of vaﬁ_ables inax+by< ¢ a_re_  R
'.(_a)l - M2 (©3 _4'(d) 4"
4 0.0 the- solution of the iheqixaiitj’ | :
(a) Tx+ 2y >0 b 2:r..—:y >0 () x +ty20.  {d) 3x+5y<0 |
5. . 10.0) issatisfied by - | _ N ’ |
) x-y<10  (b) 2x+5y>10 () x-y>13 - {d) None

6. ‘The point where two. boundary lines of a shaded region intersect 1s

called
(a) boundary point ' | (b cofner point
(¢) stationary point ' (d) feasible point

=3

If x> b,t_‘,hen o .
(@ -x>-b (b)) —<b (c)”x'<_b Cd) ~e<-b
8. The syl;lbols uséd for inequa_litf are - o :
@102 @3 @4
9. Alinear inequ;ality con’gairl_s at least —-- variables
B (a) one - bytwo (c) three (d) more than (hiree |
‘10. An inéqqality \#ith one or two variables has —— splutions’ o

(@) one (b) two (¢) more thantwo (d) infinitely many
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11.

12.

13.

4.
I5.

16.
1

18

19.

20.
21.
22,

23.

ax+by<c¢ is not a linear inequality if
(a)a 0.b=0 (b)a#Ob?:O {¢) a= 06#0(d)a¢0b0c0

The graph of a linear equation of the form ax + by =cis a hne which
‘dindes the whole plane into —— disjoint parts

PR |

(a) *wo (b) fo’ury {© nore than four (d) infinitely'mény

The graph of correspondmg linear equatmn of the hnear mequahty is a
line called - B '

(a) boundary line ° ; (b) horizontal line

{c) vertlcal line - .‘ fd)_ ‘inclined linie

The graph of the mequahty x <bis B _ |
(2) upper half plane S (b)‘ lower half plane

- {¢) left half plane | e (d) right half plane - -
The graph of the inequality,y < bis
(a) . uﬁper half plane | () lower half plane
| (© left half plané _ | (d) right half plane

The graph of the 1nequa11ty ax+by € ¢ is— side of line ax+ by=c
(a) - orlgm sidle (b) non-origin ‘side (c)r1ght ) (d) lower

The graph of the inuquality ax+by 2 ¢ is— side of line ax +by = ¢
(é) origin side'l | (B) nOﬁ originside  (Qupper () left '

The feasible solution w}uch maxmnzes or mmumzes ‘the 6b]ect1ve
functlon is called '

' (a) exact solutmn o , (B)-optimal solution

'(c) final solution o (d) objectivé solution

Solution space consisting of all feasible solutions of System of linear in

inequalities is called: . _
(a) Feasible solution ~ (b) Optimal solution
' (c) Feasibleregion  * ~  (d) General solution
Corner point is also called: _ " '
(a) Origin (b) Focus  (c) Vertex  {d) Test point
For feasible region: o
(a) x >,92000)x<,yS0 (@©x2,y5€0  (dx<,y20
x =0 is in the solution of the inequality: ' ' |
(8)x<0 (b)x+4<0 (c)2x+3>0 @d2x+3<0

linear inequality 2x-Tv > 3is satisfied by the point

@6D " BHE-) @00 @D
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24, The non- negative constraints are also called
(a) Decision variable (b) Convex variable
(c) Decision constraints {d) Conecave variable

25.  If the line segment obtained by joining any two points of a-region lies
entirely within the region, then the region is called

(a) Feasible region - (b) Convex region
© {¢) Solutionregion - (d) Concave region
. N

~ Note that- |

- Not convex | | Convex

Unit - 6 ( Conic Section)

"TYPE-1: { Multiple Choice. Questions (M..C. s) .
" Each question has fnur possible answers. Tick ( V) the‘ cerrect oné

1, The locus of a revolvmg line with one end flxed and other end on the
circumfererice of a circle is called

(a)asphere (b) ac1rcle o (c)‘acone' | , (d)aeonic

2. Let Abeany ﬁxed point. All the lines through A and the points on the
mrcumference of a circle generate

(a)a sphere ‘ ~ (b) acircle kc) a cone .(d)aconic'

3. . A line which is perpendicular to base of a cone and passes through the
vertex of the cone is called

(@) ruling ‘(b) nap ©  (¢) vertex  (d) axis
4. A point where rulings ( generators) of a cone becomes common is called
(a) centre - (b) nap . ' (c) vertex (d) axis

5. If a cone is cut by a plane perpend1cu1ar to the axis of the cone, then the .
comc sectlon 18 ‘ 4

(a) circle  (b) parabola (c) ellipse (d) hs;pernola.
6. If a cone is cut by a plane passing through the vertex of the cone and -
perpendicular to f;he axis of the cone, then the conic section is

(a) pointcircle  (b) parabola () empee " (d) hyperbele _
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-1

10.

11,
12

13,

14.

16.

If the cutting plane s slightly nlted such that the pian@ is not
pelpendmul ax to the auq of the cope. then the conic section is.

a) cwcle h) pdldbold (c\ elhpqe o {d) h\perbola :

CIf the cuftmg plane is par allel to the genelator of the cone but cut onlv
~one nap of the- ‘cone, ‘then the Comt, section 1‘= . '

-

Aa) circle (b) palabola o) elhpse (d) hyperloolar

It the cutting piane' is pal allel to the generator of the cone and cutting
 both the naps is Ldlled J T

¥ -

() ulcle ;., ‘ (b) palabola l'* "(’)'elii}.JQé (d) hyperbola
" The set of’ polntc wh1ch are at equal tfibtance from a fixed poiﬁt is
called _ o o ’

@) crcle . - (b) _pérab‘ola’ {¢) ellipse (d) hyperbolé.

The circle whose radius is zero is called

"(a)' unit circle ~ (b} pointcircle (c) \circumcircle, (d) in-circle = -

‘The cirde whdse'radius is 1 is called
(a) unit cxrcle (b) point circle (¢) "'circumcifcle (d) in -circle

The equatlon x2 +y2 4 2gx + 2/y +e¢=0 replesents the clrcle with
centre - :

@ @p @@ﬂ‘f@)@ﬂ mwgw

The equation x2 + y2 + 2% + 2fy tc= 0 represents the circle with =~

radxus

(a) \/ 2 _c ) \Ig +f—c(0) \F‘rfz—c d)\/g + 2 +c"

" The second degree Pquatmn havmg each of x2 and y2 thh equal

coeff1c1ents alongwn;h no product term is

.(a) circle, | (b) elhpse (o) parabola d) hyperbola

The equation of the 01rcle havmg A(x1 1) and B(x3, yz) as the ends of

its diameter is - : ‘ ‘ ,

(a) &—xn&_%ﬁ+0-yﬂ0;y%=0
) w-xe-19) - G-y -y =

© -2 -y @-x2) y~y2)3 0 |
@) @=x)o-yD+ -2 -y =0 ‘
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19,

(ST )
(34

24.

9.
97,

28.

'The measure of the central angle of a minor arc is

The angle inscribed in a semi-circle is -

—
]

C CoH ,
iah i 3o e (d) cannot be determined

i~

_ The circle which touches both the axes with radius a lying in the II

quadrant. hag centre as-

W o W e-a @ e @ (aa)

* The straight line 'which touchés a curve without cutting it is called

{a) c'hord‘ _ (b) tangent | {c) 'normal - | (d) bisector

The straight line pexpendlcu]au to the tangent at the point of contact is
called :

ta uhm(i . b tangent (¢} normal - (d) hisector

The number of tangents ';hat can be drawn from a point P{x], ¥1) to a

civcle are
'(a) one () tWo (c)“m‘ore than two | (d) inﬁm’tely‘many

Two tangents drawn from a point to a circle are real and distinct if

Py, ) lies the circle

(&) ‘outmde (b inside ic) on (d) none of these

Two tangents drawn-from a point to a cucle are real and coincident 1f

P(x,. y,) lies — the circle,

(a) outside (b), inside ° (c) on A (d) none
Two tangents drawn from a point to a circle- are 1magmary if P(xl, h2)) .
lies —— the c1rcle ' N |
(a) outsxde ) ingide. = (on - (d) none

If the point 13‘(35l ¥ lies mmde the circle then tangentlal dlstance (or

- length of tangent )15

(a) zero (b paéiti\)e " .{c) imaginary td) negative |

A liné segment whose end points le on a circle is called

(a) chord | (B) tangent (c) normal (D) radius ‘
Congruent chords of a circle ai"e'egui-distant from the

{(a) centre ‘(b) origm (o) radigs ‘ (d) tangent

"the'measure of
the angle subtended in the corresponding major arc
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29,

30. °

31.

32,

33.

\3‘4. _

' ﬁxed point to a flxed line is called

35.

36,

(a) half (b) equal (c) double. . (d) triple
The perpendicular at the outer end of a radial seglnent is —— of the
circle | . ‘ '
(a) tangent (b) normal “(¢) chord (d) diametre
The mld -point of the hypotenuse of a right triangle 15 —— of the
triangle . _

~(a) m- -centre l (b) circumcentre (c) orthocentre (d) e-centre

Perpendlcular dropped ,from any point of the circle'on a diametre is the
‘mean proportlon between the segments into which it dmdes the

- (@) dlametre , - (b) anychord = (c) radius (d) c1rcle

The set of points in a plane whose distance from a fixed point and from °
a fixed line remams the same is called .

() parabola () ellipse L
(©) hyperbo]a o () rectangular hyperbola

The.set of pomts which bears a constant ratio ( e) equal to 1 from a

fixed point to a flxed line i called ¢

(a) ellipse cL ' (b)‘ parabola _
(¢) hyperbola - | (d) rectangular hyperbola
The set of pomts which bears a constant ratlo (e): 0 <e<l from a

]

(a) elllpse | L (b) parabola
(c) hyperbola ' o (@) rectangular hyperbola .

The set of points which bears a constant ratio (e):e>1 from a fixed
point to a fixed line is called

(a) ellipse : : " (b) parabola

(c) hyperbola - o o d) rectangular hyperbola

For any parabola in the standard form, if the dlrectrlx is x = a, then its
equationis '

@) P2=dax B yle-tax  (© 22 = 4qy (d).x2=‘_4§y
37,

For any parabola in the standard form, if the dnrectrlx I8 x =-aq, then

.its equation is

(a) -y = 4ax (b) y2:__4ax (C)-Iz :4ay (d) x2=f4ay ’



38.

39.°
. 1t§ equatlon 18

40.

11,
12,

43.

44,

45
6.
47,

18.

| | 49,

50.

is called

Aline segment passing through the v'focus, is called
\' (a) chord - (). focal chord (c) axis -(d) latus rectum -

36 - Objective Type Questions

For any parabola in the standard form, if the directrixis y = ¢, then its

- equation 18 “

(a) ~2—4ax ' (bl y2=w4avc' () %2 =dgy (d) x%=-4ay

For any parabola in the standard form, if the directrix is y = —a, then

| (a) y2-= dax | () y2=—dax (c) x2‘= day (d) x2=_ day

A line segment, whose end poirits lie on a parabola — of the parabola -
(a) - chord (b) focal chord () latus rectum (d) 'dianietre

A line segment. passmg through the focus and perpendlcular to the
directrix is called of the parabola

‘ la) chord | (b) “focal chord (¢) axis : (d) latus rectum

Aline ségment passing through the focus and perpendlcular te the axis
of the conic

‘(a) chord - “(b) focal chdrd () axis (@) latus rectum |

of the conic

A line segment passmg through the focus and perpendlcular to the
directrix is called - of the elhpse .

@) chord () focal chord (¢) major axis (d) latus rectum
The point where the axis of a parabola meets the parabola is called
(a) centre ' (b) vertex : (¢) focus - {d) directrix

x=at2, y= 2at are;the parametric equations of

() parabola () cirde (0 ellipse . (d) hyperbola )

x=acost, y a stn ¢ are the parametric equatxons of

(a) parabola (b) crcle - (). elhpse (d) hyperbola
x=acost, y= =b sz.n t are the parametnc equatlons of

(a) parabola _(b) circle (c) ellipse (d) hyperbola
x=asec 8,‘ v=blant are the joarametﬁc equationsof *

(é) parabola  (b) circle - (cl ellipse (d) hyperbola

X = a cosht, y b sink t are the parametric equatlons of

(a) parabola (b) circle © ellipse (d) hyperbola
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i .
I~

(L I

59.

60,

61.

62.

=1

"The'second_ degree equafién ax? + byz + 280 + 2fy +c = () with either

a=0orb=0 but not both zero represents -

- {a) - parabola ' _(b_a circle {c) ellipse  (d) hyperbola

- g L
2. The parabola y== - 12xopens

(a) dow_ny'vards' (b) upwards  (c) rightwards (d) leftwards

. In the case of an ellipse it is alwavs true that

@ 2> a2<b? @ a2= b2 (da<0.b<0
In a conic section. if ¢= 0. then it 18 called -

(=) parabola (b cirele - (c) ellipse (d) hyperbola |

~ The inid-poi‘nt of the foci of an ellipse is calied

(a) focus - (by latusrectum (c) centre ~ (d) covertices
The distance between centre and either vertex of an ellipse i length of

(a) major axis “{b), semi-major axis

" (¢) minor axis R (d) semi-minor axis

The mid point of the vertices of a hyperbola is called

(@) focus (b) latus rectum {c) centre .. (d) covertices

The mid point of the foci of a hyperbola is callea

(a) focus (b latus rectum (c) centre (d) covertices -

_ The distance between centre and either vertex of a hyperbola is length

of -
- (a) transverse-axis = (b) imaginary axis
(¢) semi-focal axis (d) latus rectum -

" The distance between two vertices of an ellipse 1s the length of

(a) major axis (b) minor axis (c) transverse axis (d) conjugate axis

The distancé_ between covertices of an ellipse is called -

(a) majoraxis . (b)- minor ‘axis_ |
(c) focalaxis ' (d) latus rectum
The distance between vertices of a hyperbola is called'

(a) ‘major axis ‘ © (b) minor axis

(¢) focal axis . ' (d) conjugate axis
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63.
64,
65.
| 65,
67,

68,
69.

70,

The length of latus 1ectum of a hvper bola i 1«

(a) 40 '(jb)-‘(;‘l‘ (o P

The length of semi-latus vectum of 5 hyvperbola i

_ : pd - 2
@ da. . i 5, —
The length of latus rectum of an elhpse is

| o apl
(a) 4a (b). - ooy T

The length of Semi—la_tus— rectum of an ellipse 1s

:V') !
L b b
(a) 4a , "(bg % (©) a

The length of semi-latus rectum of a parabola is

(@) 4a | (b) 2w @a

R

y2 = 4ax is symmetric about the |

() x-axis (b} y - axis L (c). both axes-
a-x—z + '5'22; ‘=.1 is symmetric.aboutl-the :
(a_) X - axis ,‘ ‘ __G:)) y - axis (c) both axes
2:_; - ‘;‘Z]‘Z‘ = 1 is symmetric a,bg.jut‘th‘e ‘

ey, | x- axisl .' ; (b) y-ax;s y((c)-'both axes

(d) liney= x"
() line y= x

@ liney=x

Note The symmetry of a curve.

@

|(1d)

(m) If we get the same equatlon by replacmg x by -x and y by -y the curve
s symmetnc about the origin or about hoth the axes. -

(iv) If we get the same equation by 1nt§rchang1ng x and’ ¥

If we get the same equatmn by replacmg x by —x the curve is symmetnc

about the y~axis.

If we get the same equation by replacing y by -y the curve 1s symmetnc

about the x-axis.

symmetl 1c about the line Y =X,

_the curve isi
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7.

77.

78.

79.

80.

The directrix of the parabola y2 = dax is _
(@ x=a ®zx=-a  ©y=a @y=-a

_ . 2.
The directrices of the ellip&;eﬁ2 + L= are
. ‘ a b

e

(a) x= 4 (i’)) y=‘i'§ (¢ x=%¢ (d) y=¥‘c

2

2 2

" The directrices of the "ellipse'x—z +°5 =1 are
'_ " b Q E :

@ x=tS ) y=xl ©rzsc @ yE=
The eccentricity of the hyperbéla 5 — 3 < 1 1s
: ' - a b ‘

-(g) e='§'<1 .(b)'e=§_>,1 (&)8?_5=1(d)e=('1' =0 "
For the hyperbola -5 - 2 = 1 which of the following is true ?
@ a>b  ®a<b  ©a=b (@ alofthess
Asymptotes of the hyperbola—2 -9 =1 are

o ~a* b .
(@) y==x G y=zbr. ©@y=+ax Ay==x_x

If the distance between a straight line and a curve approaches zero but
never intersects it, then the straight line is called

(a) tangent | (b) normal (¢) chord (d) asymptote °

An ellipse and a hyperbola have a common name —— f{as~

- each has a centre of symmetry)

(a) degeneraté conic oo (b) central conic
" {¢) symmetrical conic ' (d) circular conic

If ¢ = \[6—5 . b‘;- 7., a=4, then the ecCentricity of the hyperbola 1s

6 T oa . .
Ve g8 R I

@ 16 7

' ) . ) R . ' . Lz ‘ ) x2 ) “ .
The equation of the tangent t4 the hyperbola g - b_2 = 1 atthe
‘ a ,

~ point {x1,y1) is



" 82. The straight line y = mx + ¢ is tangent to the ellipse 5t ‘55 = Lif
‘ . i : a , : o

4o . Objective Type Questions

81. -

84,

- 85,

86,

87.

Q) c=+ \‘la2+ b2 m2

83. The straight lme y=mx +eis tangent to the hyperbola 2
a

. {a) translation of axes

w1 o m
@) a2 v b2 : B ,“(b) 02 b2
w1 o yyl , Bl

(C) bz -, Gz. =1 o (d) CZZ =1

The equation of the tangent to the ellipse 5t ‘?Z‘z' = 1 ‘atthe
. - a’ .

pointl 2,-3) isj

2x 3y & 3y
5 - = - + =1
@ 2 | LR
2 3y y 8y
(C) 'd. “bz = 1‘.. (d) (12 +'b2. \1
2

@ c== \/a2m2+b'2_ L (b) ‘c*= 2b24~
| @ c= i‘\fa mé - b2
2 .
Pl
- 2 1,if
@ c= '\‘/.azm’z‘rbz' (' c= E \Iazbzl- m2. -
© c= :t\‘/ 2+ b2 m2 ‘- ) e . + o m2 b2

"The equatxon of the tangent to the parabola y2 = 4ax at the pbinﬁ

1

. (xls yl) is

® 1= fax + x1)

@ yy1 = datx-x1)
@ = - 20(x + 1)

© oyl =20{x+x)

points

Two conics will always intersect each other in —

(a) rio | (b) one " - {c) two (d) four

Two conics are sald to touch each other if they mtersect in —

coincident point/s

(a) one - (b) two j (c} more than two (d) two or more |

1 the origin 0(0, 0) is shifted to some other ;:omt O'(h, k) such that the

new coordinate axes remain parallel to the ongmal ones, then this
process is called '

, (b)" rotation of axes

(c) shifting of origin @ ‘transfer of axes
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88. Centre of the cncle (x- b)~ + (v - )2 4= y2

18
@i hoay - (b) (=b, - (cf (@b - fd) (~a.-b) ‘.
89. The equa.tion : -Lx?'.* -.va - 16x 4'.24.3;‘ S117=0 represents |
fa) (;ii'clv . “ib) parabola  i¢) ellipse (dy ‘hyperbola ‘.

90. I the major axis of an ellipse is.of length 12 and minor axis of 6, then
~ equation of the ellipse 15 o

2 ) . 9 9 .
p U ' Co O, L
@t g sl o Ty osl
2 -\,2 . o v P 2
BT T 1 o ‘ \(d)’ 12 --.‘fl_.v- =12

91: .Inanellipse, the foci le on
(a), major axis {(b) wminor éxisrl_ ’(c) directrix \]’_d): 7 - Axis
92. - The foci of the hyperbola =5 - = 1 are
P et = b2 _
@ (#¢.0) . ® 00 '()'(zta 0 @ O*a
C 93, ’I‘he centre of the cu‘cle 45xz + 45y2 - 60x + 36~/ + 19 0
| | 2

ERORE —;5 ) (c). ( 503 ) ‘—5 73 )

. 22
@ (= 5! 3

%M. The value of a tcn wh1ch the parabola 32 =4ax passes through (2 3) .

18 .
9 8 1 1
@g b © 3. @ -3
95.  The eccentricity of the ellipse %264- ‘%’ =1 is
(@) {: BT @16 @9

' 2
96. The vertices of the hyperbola 5 - -b_?j =1 are
. a= . . =

‘(a).(ia,m ®) (oa:a)" © (fae.0) @ O*ae)

.. ) 2 '
97 If (x —él) : (J’ k)_
L b.a

. a
the equanon of directrices are

= 1 is the hyperbola with centre (h, k) then
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98.

99,

- 100,

W x=eg By=afo@x=igrh @ =gk

If the di_scri_mh;ant K2 —ab<0 , then the conic will be- ‘,
(a) ellipse.( or circle_) B (b paraboia ‘

(c) hyperbo.la | o | (d) Idegenerate‘comc
If tﬁe discriminant h2 —ab ‘= 0, then the conic will be

(a) ellipse (or circle) ) (b) parabola J

() hyperbola E .  d def_génerate conic

If the discriminant A2 — ab > 0, then the conic will be

| -.(a)‘ ellipse ( or circle)‘ | (b) .parabola’

101.
102.
103,
104,
105.
 106.
107
"108.

© 109,

110.

S111

112,

(c) hyperbola o o (d) degenerate conic

For parabola x2 = 4qgy. Its vertex is: g _
(2) (@, 0) ®) 0.0  (©¢a, 0) ' (d) 0,0
The length of major axis of an ellipse is equal to:
@2 . (b) 26 (c) a d) 402 .
12
For hyperbolaf- - -l*)y—— =1, ; the centre is the p01nt
a’

(@) (a,0) 0.0 (C) ©, 0) ‘( Y0, -a)
The centre of the circle x2+ y2 + 2fy +¢=01s;: -+
(a) (£, 0) by 6.f) ©@G£.0)  @©O,-1)
The line y = mx +¢, intersects the circle x2 + y2 = g2, if .-
@ct=a?(1+m?) b)ct<a{l+ni?) (c)ct>a?(1+m?) (d) None
The focal chord perpendicular to the axis of parabola is called:

(a) diretrix (b)Axis ~ ~  (¢) Latus-rectum (d) None
For the eccentricity of the ellipse: : -
@e<0 b)0<e<] - {0e=1 o de>1 .

Radius of the circle #2 + y? —6x + 4y + 13 =0 18!

@0 w9 eV @i

2 .
X’
Co vertu:es of the elhpse —+ ——b = 1 are -

(a)(ta,m )0, ta) _(c)(ib,O) @0t

_ : 2
Length of transverse axis of the hyperbola -~ ;2« =lis:
. e a
@2 . ®ae - () 2b oL Db
x* + y2=r? represents an equation of a circle with centre at:
@tk (b) (0, 0) ©€1, 1 - @(1,k)
The line through the focus and perpendicular to directrix is called !
(a) Direcrix - (b} latus rectum -

- {c) Axisof parabola - (d) Tangent at the vertex .
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. - ) -\:' - v' } . : o ' )
113. For the ellipse — + ? =1 (a > b ) equation of latus rectum 1s;
- a b _ : S

~ i

’ . : N . , \C‘ N .
J@x=t— " MbMx=1tc @©@x=t < () y=*ec

"114. .The hyperbola L-— %}n =1 is symmetrical about:
a , .
C(@)x-axis © o (B)y -axis (c)Bothaxis . (d) z-axis
115. General equation of the circle fs: '
‘ @42yt + 2gx + 2y +e=0. (b)) 2+ +2gx+2fy+c=0
_ (c) xt +y2+2gx+2f};'nﬁ,¢=0 Co{d) -y 2gx+ 2fy+c=0
116. The vertex of the parabola (x + 12 =8(y -2)1s: '
-a)(l 2) - (b(wl‘ 2) ©E€,-1) D21
117. 1‘- + )— = (a > b)are
boa L
“(a)(fa,0) (b) 0, ta) @(£b50 (@O, 1d -
118. The eccentricity e of the hyperbola is always such that:

: @e<0 - ({M0<e<l (ge=1 dye>1"
119. The radius of the circle (x - 1)'+(y+ =31
@V3 . ® 3 ©33 @9

120, The directrix of the parahola y2=8xis: : .
: (a)x+9=0 b)x-2=0 - (c)y+2 0 (y-2=0

12

x .

121 Transverse ams of hyperbola—-—y-_- =lis -
‘ ceo a '

. a . L-oa

@ x==  @y= -

€- e

L@ y=0 ~(d) x=0

122. Equatwn of the cu'cle with centre at the or1g1n and radms \/5 is:

" (a) xl +y?= \/g (b) a2+ yl= 5 (c) x2 + yl =25 (d) None
123. The centre of the circle having equation 2 + y2 + 12x - 10y = 0 is:
@) (6,8) G-6-5) (6,5 d)(6,-5)
124. The end pomts of the major axis of the ellipse are called its:
(@) Foci - (b) Vertices” - (c) Covertices d) Dlrectices

125. Vertices of the hybérbolé f—é - -};— =1 are:

G @20 B0 ©(E4,0) @@ty
126. The equation of tangent to the parabola ¥ = 4ay: ' '

a : , a
" (@) «y=Amx +~—2~ M)y= mx—am’z G y= nx +am? (d) y=mx +—
- m ! _

- S I
127 Transverse axis bf ————:‘-—9— =1 -
 (a) esonxaxis . . (b) lies on y -axis

mo

(c) pass through (4 7) o (d) pass through (7, 4)
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129.

130,

134..

135.

136,

“The length of the tangent drawn fmm the pomt { 1 1 yto the cncle
Ay -Gr+ 9y T 8=01s: :

(a) 1 W) Yo o @4 @12
The equation ax? + by? + 2gy + Zfv + ¢ = 0 .with eithe: - = Oorb=0but .
hot both zere represents. ,
) Circle . (b) Parabola (¢} Ellipse = {dj vaerbola
The length of semi latus rectum of an elh,)se 18
‘ : 2 . -
{a) o . ) l)-— (c) 26 (dy 2— ‘

. The foci of hyperbola always lie on:

(@) x-axis  (b) Transverse axis (¢} ¥ -axis (d) Conjugate axis

2. Tangent line to the curve x? + v¢ = g2 at the point (vi . v is:

(@ +yn=a 0 (bpad fyr=aed o L
e} xyy + v = 0¥ (d) None ‘ .
3. The lme thmugh P pelpendlculan to the tangent to the c,ulve at Pris
called - :
{a)-Normul at P . e (b) Tangent atP
te) Slope at P = - '; {(d) Chord at P~
If féci of an elhpse are (4, 1) and ©, 1) then its centre is
(a) (4, z) (b) (2 1). : (c )(2,0) ) (1,2)

The second degzee equatzen of the form Ax2 ¥ By2 + Gx + Fy +C=0if
A=B # 0 1epresents

K a) par abola {b) circle - e ellipse (d)l Hyperbola
T he aecond dearee equatlon of the form Ax2 + B»z +Gx+ F y + (, 0 if

A#B and bath have same sign .represents -

: (a) parabola (b) urcle E (c) e_lhpse @ hyperbolar -

137.

- 139

-A¢#B and both have opposite sign. represents

The second degree equai;ion of 'the form AxZ% By‘J +Gx+¥y +C=0 if

. - (a) parabola (b) circle. c) elhpse o (d) hyperbole
138, | |

The mgst general second 'deglee equatmn

ax? + thy + by2 + >gx + va te = 0 represents a comc The quantity
hz ~ab 1s called — .- .

(a) Dlscrnmnant E ) (b a-pair of lines.

) degenerate conic’ . (d) conic section - o

Undér certain condztlons the eqixatwn ax+ thy + by2+2gx +2fy+ =0
does not represent an)z conie, then it represents

(a) central conic -, ~ (b) pointcircle
{0) .degenerate conic . (d) pair of lmes through (0, 0)
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NOTE. One of the degenerate cortic is a pair of straight lines. The necessary
and sufficient cond1t1on of the palr of stralght lines is

a h g
hob ] =
g foel s

‘ or abe+ fgh —af 2 - bg? —ch2 =0
- Remark. This is & well- known determinant, its expansion should also be
‘memorised. '

“to check whether 242 — xy + b - 2y+2 = 0 represents a pair of
hnes : : -

Here, on comparmg w1th ax2 + 2hxy + by? + 2gx + 2fy +e=0,

1
a=2, h;—E, b-O.g =~ f=-1c=2

1 5
. 9 = 2
h b fl= =3 0 -1 1 Expandby R, then
AR )
1 o ' -
R Et R T B ST

- Hence the glven equatlon represents a pa1r of stra1ght hnes

Unit -7 ( Vectors)

»

(TYPE-1: [ Multiple €hoice Questions (M. C. Qs)].
Each questwn has four posszble answers. Tick (V ) the correct one:
1. The vector whose magmtude is Lis called

. {a)ynull vector (b) unit vector (c) free vector (d) séalar‘
“2.. . If the termma] point B of the vector AB coincides w1th it 1mtxal pomt
'AthheniABl IBBI='7

- ",(a) TR b 0 @z @ undeﬁned

| .3 Two vectors are sa1d to'be negatlve of each other if they have the same
magmtude and —— direction _ _ -
(a) same (b) opposite ~ (c) negative - (d)- parallel

4, ' Parallelogram law of vecor addition to describe the combined action of
: two forces, was used by -

) Cauchv O (b) Arisiotle (o) Alkhwarzmi (d) - Taihnits
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46 ' Objective Type"Questions

The'vector whose initial point is at the ongm and termmal pomt 18P, is

} called
(a}) null vector ‘ : (b) uhit vector
(c) position vector | " (d) normal vector -

10.
11,

12.

13.

14,

If Rbe the set of real numbe,rs then the Cartesian-piane is defiried as

(a) R%= {(xz ¥ixyeR) ® RE={@y:zyeR)

@ RE={GyimreR my}  @B2={@y)xyE R x=y)

.The eiement (x, y) € RZ. representa a

(a) space . (b) pomt (c) vector (d) line

The set of all ordered pairs [x v} of real numbers together with the
rules of addition and scalar multiplication is called the set of

(a) vectorsinR L g(b) vectors in R2
{c)  vectors in space , ' -(d) all vectorsr

Ifu-= [x y]mR2 thenlul =7
a) 124y Vi2+32 () % x2+y2 (d) -y

If ju) = ‘\fxz +y2 =0, then it must be true that
@ x20y20 (O x_SOysO_(c)xZOySO(d)x=0.y=0'_

Each veetor [ ,x‘, y]inR? can be u-’n’iquely represented as

@ d-y o Ot © xty @2y

The hnes joining the mid- pomts of any two 81des of a triangle is always }
—to the third side. -

{(a) _Equal (b} parallel (c) perpendlcular (d) base

coordmates '

A point P in space has

.(a) 1 ®) 2 (c) 3. "(_d) iriﬁnitely ﬁlany

The set of all ordered triples | x,- ¥, 2] of real numbers, together with ,

 the rules of addition and scalar multiplication is called a set of -

a) vectorsinR o (b} vectorsin R%
(c) vectorsinR3 © 7 (d) all vectors

In space the vector i can be writtenas



16.

I8,

19.

"'»u— 20+ i)ﬂ—k v= -6~ Jj~ 3kare

Objective Typs Questions 47
[ space the vector j can be written as ' |
W 0,00 b 010 © 0,0, no@ 0,1

In space the vector k can'be written as

@ (L0.0) M) ©LOL 0.0 D @ ©0.0.0

vectore

s

“(a) parallel (b perpendicular (c) reciprocal - (d) négafiye

The angles o, pand y , which a non-zero vector r makes with x-axis,

v-axis and z-axis respectively are called—of r .
(a) direcﬁion cosInes . ' (b) direction raéio_s
(c) dlrectmn angles AR (d) 1nchnat10ns
Mea-u1e of dlrectmn angles a . B and y are .
. ' - \ I 1 )
@) u<0.8<0 v<0 " b)0<as<y ,0<B< 2 ,OSYS 3
| (c)’a>OB>0y>0' ' (d)0<oc<n 0<B<rx 0<y<n
ffu = 3+ ok, then [3—1 2] are called —— of u | )
(a) dlrECthI’l cosines - (b) dlrectlon ratlos /
(c) ‘direction anglee o (d) elements e

'

. Which- of the followmg can bée the chrectoon angies of_someﬂector

@ 45,4560 . () 30, 45',60° (0} 45°,60",60° (d) none of these

_ Recall that here 0032 o + cos2 B+ coszy =1 'should hold.

93,
24.
25.

26.

_ (a)

Measure of angle 0 between two vectors is always

| (é) -0<6'<n. (b) 06 s ) 0<0<m - (@) obtuee

I the dot product of two vectors is zero, then the vectors must be

-(a) parallel (b) orthogonal (c) remproca.l @ equal

If the cross product of two vectors 1s zero, then the vectors must be

(a) parallel (b) orthogor_xal ‘(c) reciprocal (@ nen-coplanar

Ifo »be the a_ngle BetWeen two vectors @ and b, theri cos 9':,?

1
S
o=
=]
o

axh a:
ST (b)' - -
agel  lal

Q“l

T dal el
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30
31.

32,

If & be the angle between two vectors @ and b . then projection of b
along a is '

T S S ul~
it lalh; lai - Gal

If 6 be the angle between two vectors a. and b then prOJecnon of a
along bis ‘

=t
el
QL

axh :
aXx b)

i : L (d) —
!c{libi lall

lal

(a)

b
© ?-' a-

et

I
Let' u = ai +bj + ck, then projer_:tion_of u along i is. |

@a  ®b . @c - @

Let "= -di + bi + ck. theﬁ pfojectioxi ofu alongj' s )
@ a \ RCY (c)‘ e ‘(d) u
Let u= a1+ b+ ck then pro;ectmn ofu along k 15 ‘

(@) a . (b) b © ¢ (d)

In any triatgle ABC, the Law of COSilfléS"iS ‘

(@ o2=b2+c2-2becosA () =boosChecosB

33.

34.

35.

36.

37.

(c) a+b+c?0 () cos(a By = cosacosﬁ smusmB

 Inany trlangle ABC the Law of Projectlon is

(a) al= b2+c2 2bccosA ' (b) a= bcosC+ccosB
_(c)'a.b =0 . da -b =0 .

If uisavectox"sgchthatu.i¥O;u,i'i0 an)du.iki()_,t'hénuis

(a) | unit vector ‘.(b} nulihvectlm_"(c) [i,. is -k] = (d) none of these

Cross product or vector p'rc_iduct,is defined

~(a) in plane only (b) in space 6nly {c) everywhere '(d) in a vector field

If w and v be any vectors, tnen uxvisa vector
(a} parallel tou a.nd\v R ()] parallel'to u
(¢) perpendicular touandv. . (d) orthogonal tou

If u and v be any vectors “along the adjacent sides of a parallelogrm ;
then the area of the parallelogram is ‘

v,(a) uxv ©) fuxvl ‘(&%(uxﬂ (d)@l; fux vl
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C 38 Ifu and v be any vectors, along the adjacent suies of a. tmangle then-
" the area of the triangle is :

(8) uxv: ®) juwx v A(c)‘ %(u X xlr) (d) ‘% hu X v| |

39" The scalar triple product of @, b and ¢ is denoted by ‘

@ a.b.e () axby (@ a.bxe @) (a.b)xc
40. The vector triple pr‘c')duct of\ a,' -b and.¢ is denoted by A |

(a) a+b{>«: : (b)a b:c " (c) axb ¢ (d)l_qoo(b Xc)
41. Notation for scalar triple product of a, bandc is -

() a. bxc b) axb.c (o) {a b c] (d) all of these .
42, Ifthe scala;' triple prodﬁét of three vectors is zero;, then vectors are |
(@) collinear (b) coplanar () non-éoplanar Ad) jnon-coihnear
43 I u={xy], v=[x,51, thenu-vis o

(@ [r+x, y-3] o M [x—x,', -3l
CIENE @ty vty

44 Aand B have the same. dlrectlon then A B=7?

(@) AB . (b ‘-AB (c) AB sme (d) ABtanO ‘
45. . Foravector A A A=? |
@ BA @y @

46. If A and B have the opposxte d1rectlon, then A. B =7

| (@) AB (b) -AB (9 ABsme (d) ABtan®
‘47, The angle in a semicircle is equal to: . ‘ g

@5 O 07 @

48. Tow non- zero vectors # and ¥ ére' 1 ariff:
@u.v=1 ®Mu.v+1 @Qu'vz0 (d)u.v=0

" 49. If any two vectors of triple scalar product are equal. Then 1ts value 18
equal to:

@1 ®mo. ©-1 @2
50. 1f a and . b are orthogona] then:
@a.b=ab (a. b=-ab (c) a. b abSmG (d) a b =0 |
51, If 7 is a unit vector perpendicular to the plane containing @ aand I;
then: -



52,

54,
55.
. 56,

57

58.
59.

60.

6l.

62

63.

64,

>° _ Objectivé Type Questions

(a) fz:ﬂ () ﬁ:gaxby (©fi= fl.x{). @ fi=axb
_ab : ‘ ob laxb]

,If;=[4\’,y],;=[xn,.y},] then u -V is _

@fx+x,y-nl (b) [x=2x1,y -]

(c) [T—X]‘y'l'\’l] (d) frt 1, 5+ 1]

If a, ,8 . are the direction angles ofa vector r. then
Cost +Cos? # +Cos2 y = ;

(a) 3 (b2 (el (do -

The position vector of any point in xy. -plane is:
(@ xi+yi=r - b)) rEyrzk
() r =xi +zk. . ) r-x£+yj-l-zk

If the vectors 2i - 6} Tk - and —2L +6) +xk are perpendicular,
then x equal

(0)-40/7 (0407 (c} =7 @7
If u=-2i+ j~3k then | 4 | equal to: ) N
@4 mVE @12 @4

Area of triangle is whose u & v are adjacent vectors:
@ luxvyl <b)~2-ly__x vl (c)‘-?:ly.yl (d)u.v

If @ and b are perpendicular“to each other, then g:. Q:~

(a)ab  (by-ab (c) ab sin @ (@0

A vector. perpendicular to each of vectors 2i and k is:

()i (b)+2 ©-2 (d) ko

The product of vectors u.(¥x W) represents: '
(a) Area of parallelogram ‘ (b) Volume of paralleleplped
(c) Height of paralielepiped (d) None of these

For the vectors g=2i+ 4j-k and b -2z +6/ +xk: f ais
perpendicularto b , then x= _
(a)-1 (b) 1 : (c‘) 28 (d) -28
The cross product is also called:”  ~ - B
. (a)Scalar product '(b) Dot product (¢) Vector product (d) None
The position vector of any point in yz -plane is:

(@) xityi=r ) rEyirzk

() r2xi +zk (d) r=xi+ yj+zk
The positiod vector of any pomt in xz ‘plane 1s;

) xi+y=r M) r -yﬁzk

© r=xi +zk D) rExi+ W zk
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Type 1. M.C. Qs}

N -~ "Objective Type Ques_tioé '
- ANSWERS
[Unit =1 - ' ANSWERS

Lb 2a 3¢ 4c 5b 6b Tb 8c 9a

I.a 12¢ 13.a

2.d 2.4 B.a
A.d 324 3b

dl.c 4. d 43 c

S1d 52.d 53 b
6l.a 62b 63.b
Thoa T2ac B.d

44, b

4. 2.
2. d
3. 2
54.b
6. c

M.a 75.b.

lﬁ.'a_

_;26. a
.36, d

46, d
56. a-

66, b

17. d
7. b

37. a

47. d
5_7. c
67. ¢

) 58. c

18.b 19. b
8.2 29. b

38.¢c 39 a
48 a 49.b
5_9. a

68. b 69, ¢

20,
30,
40,

50,

60.

70

- ANSWERS

-y

Unit -2

Type 1. (M. C.Qs)
2.c

l. a

2. b 2. a
3.4 3L b

41..a 42, ¢

51, d 52._b
61. c | 62. a
S 7Lb 72,4

" 8l.c 82.a

9. b 92.d

e
Mo 12b t3.¢

23,
33
o,
é;
“63.
73
83.
93.

C
¢

a

54, a

"8_4,‘c'

4. d 5 c

4.2 15. ¢,
24,2 25. b
4.b 35 ¢
M.b 452
5.4
65. b
75. b
85. d

64' d
74. a

6. a

16. d
26. ¢
3.2
46. b
56. c

66. ¢

76: c
86. a

7.b

17. d
27. d
3. ¢
41 b
§7. ¢
67.d
7. d

87. b

18. ¢

48. ¢

8. ¢ 9d

28.
38 a

a 290
39.a
49 c
58. ¢
68. a
B.¢c 79 a
88 c 8.c

1'9; ¢

59,2
69. ¢

10.
2.
30,
40.
50,

0.
80.
90.

(<]

o o o o o o
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Unit - 3

Type 1. (M.C.Qs)
Lb 2d 3.d 4a
1. b 12 a 18, a 14. b
21..d 22 a 2. b 24, a
31 432 b 33 b 34 ¢
2414 42. 2 43. b 44. ¢
51. a 52:a 83. ¢ 54. a
61. a ' |

'ANSWERS

5d 6.¢c 7.c 8¢ 9. a 10

15. ¢ 16. b
25. b 26.
35 a 36.. d
45. ¢ 46. ¢

55.d 56. d

17. a 18. a
27.¢ 28. b
37. a 38. b

47. ¢ 48. b

57 c 58, d

19. ¢ 20.

29. b 30.
39. ¢ 40.
49. b 50.

59, a 60

ANSWERS

~Type 1. (M.C.Qs)

: L c?2. a 8.d 4 4
11.¢c 12.a 13. b 14. ¢
21. 52\3 23 ¢ 24.a
31. ¢ 32’.a\3{\b- 34. b
41.b42. a 43.a 44. b
51 c 52.b 53 b 543
61. b 62. b 63. b 64. a

TLb72.d o T4 b

' -'5.' b 6. a

15. a 16. c
25. a26. ¢

35. a 36. d

45. b 46. a
55. 2 56. a
65:a  66. ¢
75. b 76. a

.7. _c. 8 a
17. d 18._ a

37; b 38. c
47. ¢ 48, ¢

$7.¢ 58. b

9 b 10.

19. ¢ 20.
29.°c 30.
39, ¢ 40.
49. b 50.

59. b 60.

b
b

C

a

d

67.c 68.c 69.d70. b
77.a 78. a '

Unit -5

'ANSWERS

N

iy

Type 1. (M.C.Qs)
Lb 2.b 3.b 4c
1L al2 213 a 14 c
21.a2% c 28 d 2. a

5.c 6.D
15..b 16..a
25. b

N

N

7.4 8.4 9.a 10.d

N

17.b 18, b 19. ¢ 20.°c

j_
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Obiective Type Questios

Unit -6 ANSWERS

Type 1. (M. C.Qs) o .
Lec 2¢ 3.d 4¢ 5.a 6.a T.c 8b 8 d 10.

a
1. b 12,2 13.d 14. ¢ 15. a 16. a 17. a 18. ¢ 19. b 20. ¢
21. b 22 a 23. ¢ 24.b 25:¢ 26. a 27. a 28, ¢ 29: a 30. b
31232 4 33. b 34. 285 c 36.b 372 38.d 389 c 40 a
41.c42.d 43. b 44. ¢ 45. b 46. a 47. b 48. ¢ 49. d 50. d
5l.a 52.d 53.a 54. b 55. ¢ 56. b 57. ¢ 58. ¢ 59. c 60. a
61. b 62.c 63. ¢ 64. ¢ 65.¢ 66. c 67. b 68. 2 69. ¢ 70. c
7. b 72 a 73.b 74 b 75.d 76.d 77.d 78:b 79. a 80. b
812 82. 2 83. d 84. ¢ 85. d 86.d 87. a 88. 2 89. a90. b

9l a 92.2 93.b 94, a 95. 2 96. b 97 c 98 a 99. b 100. ¢
101.b 102. 2 103. ¢ 104, d 105. 2 106. ¢ 107, b108.b 109, d 110. a
1115 112.c 113.b 114. a115.c 116.b 117, b118.d 119.2120.d
121 ¢ 122.b 123.c 124.b 125.c 126.c 127. b 128. ¢ 129.b 130, d
131.5132.a 1333. 2 134, b 135.b 136. ¢ 137. d138. a 139.c

Unit -7 ANSWERS
Type 1. (M.C.Qs) | o
~Lb 2b 8h 4b B.c 6.b 7b 8b 9 b 10
L b 12.b 18. ¢ 14 ¢ 15. 2716, b 17. ¢ 18 a 19. ¢ 20.
21.b22 ¢ 23.c 24 b 25.a 26 b 27 ¢ 28. d 29. a 80
31.c32. 233 b 34 b 35 b 36 ¢ 37. b 38 d 39, ¢ 40.
41.d42. b 43. b 44. 3 45. b 46. b 47.248. d 49. b 50.
5l.c 52. b 53. c 54.a 55.°d 56. b 57. b 58. d 59.c 60.
61. ¢ 62.¢c 63. b 64. ¢ | S

o
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